NORDLY S

HOME & LIVING

Notice de montage
Montageanleitungen
Instrucciones de montaje
Istruzioni di montaggio

Chaise A Bascule RECIF-CORDE
Rocking chair RECIF-CORDE
Schaukelstuhl RECIF-CORDE

Poltrona 1 posto in legno RECIF-CORDE
Mecedora RECIF-CORDE

NORDLYS AR
HOME & LIVING

www.nordlysfurniture.com



RS
\\\ .
IS
Front

—_—

A. Rocking x2pcs

B. Spindles x2pcx

C. Leftarm x 1pc

D. Right arm x 1pc

E. Seat x 1pc

F. Back x 1pc

QW)

D)

@)l)))))))))))))))))))))))))))))J))))))>

@)I))))))))))))))J)))))]))))))J)))))}))»

1. Bulon (M6x75) — 2pcs

2. Bulon (M6x70) — 2pcs

3. Screws (M7x70) — 8pcs

4. Screws (M6x50) — 2pcs

L

5. 1pc

NORDLYS
HOME & LIVING
www.nordlysfurniture.com




- |
(===

"W
Wi
e I hgi=n=
] umuummuuwumlnlnummnnnunnu
0

HO:\\IAORDLYS
lysfurniture
.com



STEP 3

L=l ==l
ﬁg“ﬁh,—lu&u:\\_u
. i Il |””||1|H|Hl|l

!
AL

STEP 4

M—‘“ I l“,‘ AT \‘
NIRRT

i

=\

NORDLYS
HOME & LIVING
www.nordlysfurniture.com




